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The diagram shows a right-angled triangle.

Not to scale
4.8cm

] X
7.3cm

(a) Calculate the area of the triangle.

(b) Calculate angle x.

(D) X = oo, ° [3]
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6 The diagram shows a right-angled triangle.

J/ / Not to scale
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(a) Calculate the area of the triangle.
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L8 (752 ..... cm? [2]
(b) Calculate angle x. —l_f\ x /-2 b Tg’n_l O7L LAY .
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11 The diagram shows an equilateral triangle. e s

Not to scale

-
4cm
(a) (i) Show that the height of the equilateral triangle rrect to 3 significant figures.
I L) 3]
/>
— +
s
(i) Find the area of the equilateral triangle. _2
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11 The diagram shows an equilateral triangle. pxac, e o

Not to scale

4cm

(a) (i) Show that the height of the equilateral triangle is 3.46 cm, correct to 3 significant figures.
3]

(i) Find the area of the equilateral triangle.
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8 Here 1s a centimetre grid.

VA
10 .
i T (a) Write down the coordinates of the point P.
. A22
§cma i e ok
? ¢))
6
: (b) Plot the point with coordinates (-1, —2)
S v Label this point R. 1)
4 1'
3] Py A22
2 (c) Find the area of triangle STU.
1 G18
L,
-3 -2 -10 1 2 3 4 5 o 7 & 9 10
-1
_3 (2)




8 Here 1s a centimetre grid.

I ——

(a) Write down the coordinates of the point P.

il ol .3

Y

NP

U

(b) Plot the point with coordinates (—1, —2)
Label this point R. (1)

Ol ANE AN AN

A”
|

(c) Find the area of triangle STU.




26 The diagram shows triangle ABC.

R15a
618
G44

A

The perimeter of the triangle 1s 64 cm.
AR B CA=0"5"D

Work out the area of the triangle.

(Total for Question 26 is S marks)
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26 The diagram shows triangle ABC.

R15a 4, @
Ry

618 W& =

18 4

The perimeter of the triangle 1s 64 cm.

AR -BC-t4—=6:55 (L pc«%s KB)(H 2(()([6
Work out the area of the triangle. 4’_‘ ,/’é’—

Lo, = Hopek 652 0

B l ark 4 5
LKC P Zé/ J/ L// ___________________________ (qz ________ cm,/

20 20 (Total for Question . . is S marks)



15 Here are a triangle and a rectangle. Video created by W Neill

width
9 cm

16 cm

8 cm

The area of the rectangle is 6 times the area of the triangle.

Work out the width of the rectangle.



15 Here are a triangle and a rectangle.

\Vidsan ~rmata
¢ 3 =
- Qt b B width
16 cm Lxw =26

8 cm \ % g

The area of the rectangle is 6 times the area of the triangle. [5 l 2 [ B

I8

Work out the width of the rectangle. Qeth‘-‘ﬂi\}@_ O O <2
AFEQ o£ Erfqm‘h 36 Yt Q@

}/ qy8 fSE: %
x/’/ﬁ &,
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10 The diagram shows two shapes drawn on a centimetre grid.

~ (a) Find the area of shape P.

(b) Write down the mathematical name of quadrilateral Q.
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10 The diagram shows two shapes drawn on a centimetre grid.

~ (a) Find the area of shape P.

| 2cn’

OxH_  Gxb 2

{ 75 f2(‘ﬁ

(b) Write down the mathematical name of quadrilateral Q.

Kle
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17 ABC is an isosceles right-angled triangle.

# 3x cm B

3x cm

The area of the triangle is 162 cm?

Work out the value of x.

Question 17 is 3 marks)




17 ABC is an isosceles right-angled triangle.

o8
r 16

The area of the triangle is 162 cm?

Work out the value of x.

A

3x cm

Video created by W Neill

B Ry

g 17 e

%x_ = IEZCW\’L

s

3x cm

2
q/f’-; H)’ZCW\’L
Qxl = 321—%"*\1
i S0t 2




21 Here is a trapezium drawn on a centimetre grid. Video created by W Neill

\%
G\9

N On the grid, draw a triangle equal in area to this trapezium.

(Total for Question 21 is 2 marks)




21 Here is a trapezium drawn on a centimetre grid.

G\% -
G\q "
RS
" \\
v
G <36 D
g [Pl
4P\ | ~
4
=+

On the grid, draw a triangle equal in area to tlu'@

R XH =(&
:3éf/67

(Total for Question 21 is 2 marks)
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13 A square has an area of 81 cm?

81 cm?

(a) Find the perimeter of the square.

G15
G17
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13 A square has an area of 81 cm? q

A(@ﬂ __.—%,_, :8( Cf 81 cm’ Cf qxqig(
(8l - 9

(a) Find the perimeter of the square. q

G15

617 \)C?\+Q+C{+9
or Gyl :%
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The diagram shows a right-angled triangle and a parallelogram.

A
16cm

hcm

v
9cm <«~—30cm————>

The area of the parallelogram 1s 5 times the area of the triangle.
The perpendicular height of the parallelogram 1s 7 cm.

(b) Find the value of A.

s~

3)



\idAan Cunnt A,

The diagram shows a right-angled triangle and a parallelogram.

l16cm

\
hem - z
v / 360 il

9cm > <—30m——>

XS

The area of the parallelogram 1s 5 times the area of the triangle.
The perpendicular height of the parallelogram 1s #cm.

(b) Find the value of A. Q?@“@{Ojﬂ‘m % ?)XH :3[)0
P 30X = Yo




8 The perimeter of a right-angled triangle 1s 72 cm.
RiSa The lengths of its sides are in the ratio 3 : 4 : 5

G\&

Work out the area of the triangle.

(Total for Question 8 is 4 marks)




8 The perimeter of a right-angled triangle 1s 72 cm.
RiSa The lengths of its sides are in the ratio 3 : 4 : 5

Gt Work out the area of the triangle. Tdem = f2 pare b
\ bee = | par C
20cm =8 by &
Zlcom / \ N
Tl Z(&C v ?)OC‘”‘
AF ee, — &)( !KC
2\ 7 =3

/)1/ Lk ey 2{(:> ___________________ -

/527 (Total for Question 8 is 4 marks)
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10 Each shape below has an area of 24 cm?
Complete the missing lengths. [3 marks]
Rectangle cm E
Triangle i
6 cm i

B

N
4

cm



10 Each shape below has an area of 24 cm?

6’\,‘{” Complete the missing lengths. [3 marks] E)( \/
% -
2
Rectangle L" cm |

6 cm

Ll 2 A |
5 ,& < . >

Bx =4S
BAW -8

Triangle

Video created by W Neill

24



7 ABC is aright-angled triangle.
A is the point (-3, -2)
Bis the point (1, -2)
Cis a pointon the line y =4
7 (a) Draw triangle ABC on the centimetre grid below.
A22 A
G39 4
3t T (b)
s 618

-3 -2 -1 0 1 2 3 - :,\'

[3 marks]

Video created by W Neill

Work out the area of triangle ABC.

Answer

[2 marks]

cm



7 (a)
A22
G39

ABC is a right-angled triangle.
A is the point (=3, -2)
Bis the point (1, -2)

Cisapointontheliney=4

Draw triangle ABC on the centimetre grid below.

VA

Answer

Video created by W Neill

[3 marks]

Work out the area of triangle ABC.

[2 marks]
(S

bxb 2
KZXQ

o

é
‘2 \.// cm?




14 A triangle has base 9 cm and perpendicular height 5.6 cm

G18

5.6

9cm

Work out the area of the triangle.

Answer

cm

Not drawn
accurately

[2 marks]

cm




14 A triangle has base 9 cm and perpendicular height 5.6 cm

Not drawn
618 accurately
N\
5.6cm
V

9cm

Work out the area of the triangle. % >< ‘H q >< S ()
b 2

I

Answer 25 ' 2 ./ cm?
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A, B and C are points on the axes as shown.
The area of triangle ABC is 28 square units.

21
A22 ,
G18
Not drawn Work out possible coordinates for A, B and C.
A accurately
[2 marks]
0 c

) B :




21

A, B and C are points on the axes as shown.

1 ot R SO )

ThBC is 28 square units.

Work out possible coordinates for A, B and C.

Not drawn

[2 marks]

— - 8
g
BxH =S
5X7 =S

=y




